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000000  pOOO0OO0O0OO0O0O0O0O0OaO
A: al(m7yyz)el +a2($,y»z)€2+a3($7yyz)e3

OD0OO0O0OD0OO0O0OD0 dr =drey +dyes +dze; DO OO0, 00 COOO0OOO
goon

/CA-d'r:/Cal(a:,y,z)dx+a2($,y,z)dy+a3(a:,y,z)dz (4.2)
00000 A0 cOodoooogooog.
() 000000000000,
()
/C(aA+5B)-dr:a/cA.dr+5/CB-dr.
(if)
/_CA~d'r:—/CA-d'r.

Ooo0ob —cobogo cooooooooobooo.

(2) 00000 pU0ODOO0OODOOO VeODOOOOD AQOOOBOODOOO
coopooooo

| Ve-dr=o(B) - o(4)

O00000000.000 o(A)O00 ADDDODO ¢o0ODODOOO.
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000000  pODOODO SOOOOODOODOODODOODbOODOD

A =a(z,y,2)e; + as(x,y, 2)es + az(x,y, 2)es
000,00000 ADOODD OOOODOOoOobooo.
/SA-dS:/SA~ndS:/Salnl(x,y,z)+a2n2(:c,y,z)+a3n3(x,y,z) ds. (4.2)

ooods,dsO000no0n SO0 000000 obo0,»n0000dSO
gboobdg o, 0b0boobbobo.

() 000000000000,
0}
AmA+MﬂdS:qLAdS+@LBdS
(if)
/_SA-dS:—/SA-dS.

Oooo0 -Sg Sgbooboobobooboooooooon.

() r000000000000,

/S'r-ndS

o, Sobobooooooooobo.bobooooooobobo sgoog
gobobooga.

() ODOO 22 +9y?+ 22 = 1.
() 00 z=+l,y==+1,2=4,100000000000.
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oooooooooooo AD0,A000000DOOOOD soOoo soOoo
gobooboovoooo.oooo,

/Agn&hi/VAdV (4.3)
S 1%
00000.000 000000000,

() 00 VOOO 2y 000000000000000000000000,
(4.3)0000000000.

() 000000000000000.000 £,¢0000000,20000
dS0000000,0000000000 SO0000000000O0.
0]
af

ds = 2fd
S A

(i
dg B
[ 545 = [, VsV av

(3) 00 p(z,y,2,¢) 00000000 v(z,y,2¢)0000000000. 00
00000000000000000,0000000000000000.

gf + V-(pv) = 0. (4.4)

(4 00000000000000000000000.0000000000
000000000 ¢ (Jd/nesec)d

q=—kVT (4.5)

O0000.000 kO OO00D00 (thermal conductivity 1 OO. 00000
0oooobD oo ooo.goooooooooonooooooo, o
gogooboooooooooooog.

Eg::KV?P (4.6)

000 «0 0000 (thermal diffusivity)D, 0 0000 p00000000
000 ¢, 0000 k=k/pe, 00000,

20070 100 300 (DO OO)
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Ooooobooooonbo A0,A00DOOoO0oOoooooo coopobo cooo
ooooooo sobobo.oooo,

AfydrzlvaAynds (4.7)

gooob.0oocoboobooboob ooo.obobobooboonoogoo ©
go0DO(Coo0o0oobo0oOoooooo0o0)bodoooooooooog.

1)o0 sSsOb0D w2 00000000000 xO00DOOOOODOOOO
O00oo,@7noooooooooon.

(2000 CcOoDOoOO00O0O0O0OOoOO0D FODOO,0000000DO0DOO
ERERE

4P
E - dr — -2~
L T T

obo.oob é0 cobobooobOooD soboooooo. ¢ =
J¢B-ndSOO0O0O0O0000,0000000000D0O0O0CDC0O00O

0
VxE=—-—B 4.
% ot (4.8)

gooo.0o0 pOobbogoooon.

20070 100 300 (DO OO)



